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107,2408 = 191 » 52 5,577
OJIHM2ZR AXt=E
60,2403 » 202! = 15¢& 1,808
OJIZtMZ22IHE U3 ) AR+
107,240 = 121 » 15& 1,609
OJIZtN22 X E&4g
400,000& = 201 * 23] 1,600
OJIZHZ22IHEHS) EExE
400,000& = 121 * 23] 800
onsa2sadIds & 222 22X EHAS
60,240 * 302 » 29 « 7302 /3652 7,229
Otz 22N E’—‘i%‘
107,240 02 « 18 « 7302 /365 6,435
Olu=tl] 1,000
OJIZHHZZ Xt = & Hgs 7Y
200,000& = 521 » 13 1,000
201 223 88,740 84,045 4,695
01 At 2t2lbl 31,436 20,970 10,466
Olger+=gHl] 29,420
oxJle=a 88 BE3 5003 * 4,50004 2,250
O JI4= cIEX M& 1,000 » 1,35004 1,350
oggTIl 82 MLt 5,000& = 1,3500H 6.750
O3&Ea stEXl #< 50,000 * 4022 2,000
o= F4E MM & 228 7Y
150,000& » 12 1,800
OXJINE & Zolail 42 M
70,0003 = 2004 = 13 1,400
OHAAZE Y 300,000& = 474 = 13 1,200
OF=#Dl 2eltl 120,000& » 23l 240
ORoEH ==& 150,000& » 1294 & 1,800
oMeDISEFE 1,000& = 7000H 700
oxJotE el WS 220,000& » 12& 2,640
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FA:
X ZH -
(==l I

chel:

= X XH Q1 (S = =2 OH al'_j—l‘:— =2}
M- B8 g9(31) - HEAY - Ba S 0l ko G o HI RS2
OLrZordmel &z 320,008 » 128 3,840
OBUINYA L AHHR2| 442
200,000 * 122 2,400
0TSSR AUEIIE SHUBLS
750,0008 * 13l 750
OStRUSVES ASH 300,008 * 13 300
olgxz] 2,016
OZIlHSH BIHHI Y2
44,0002 * 204 + 122 1,056
oEdlHER ¥4I YNE
40,0002 * 204 = 122 960
02 B2 Y| 57,304 63,075 25,771
OlB2R2 2 HA 39,506
OHIINBE 32,000,008 * 14} 32,000
Ou+=R3 270,000% * 128 3,240
ORuEs 442 18,0008 * 128 216
OCIEYEIMHIS & X3RS
60,0008 = 128 720
OHER E22W wa2
3302 * 2,00004 * 33l 1,980
OBEXNY FNVLUL(SHE, BIHLREY
3) 600,0002! * 14! 600
OJbAAE A 42 700,008 + 13l 700
OABOIHE S| 50,0008 * 13| 50
SINEETIEV TN 13,000
OSIIUSBAL SXSS
9.500,0008 * 14 9,500
OZAIBHHIZH @A) &bl
250,000 * 144 3,500
oleizl] 2,083
OBEA U a2l
7358 « 204 * 20 * 632 1,853
OFCIRII, GIEDI,JIHE H2Y|
1,194 * 644 * 33l 230
Olxtg. detl ] 2,715
OBtSXtE o128 1,288 « 1104 * 128 1,635
OSHEXtE 42/t 90,0008 » 104 « 128 1,080
202 01 bl 500 500 0
01 2L o1t 500 500 0
OSIleen 29 20|
20,0008 * 59! * 52 500
206 THE bl 2,000 4,200 £2,200
NEER 2,000 4,200 £2,200
OMZH 2,000
OSIHEET 2 25,0002 * 40% 1,000
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M 2SAIE AL &
HE: YUT) USSR 2o BH Y Mse7
ol EIIHER U BHIAD 2 (Gtol &
. . 411 .
SN EB - SRAEH) - MRAY - BHS 0l st e HRE2
OMETHna & ZosSotel =7 2 &
= 7 50,000& * 20& 1,000
405 XtatFH =HI 1,300 500 800
01 Y EZHSHI 1,300 500 800
O[TreL EEHSHI] 1,300
OuE AAAUZEHEA 1,300,000& « 1CH 1,300
293 248,058 242,348 5,710
24 29 248,058 242,348 5,710
dsllsa 2d 202 145,478 141,968 3,510
101 @124l 2,548 22,819 220,271
04 DI 2 HEES 2,548 22,819 220,271
Oflsz M=z oeg
127,391& = 221 » 10& 2,548
201 23| 125,230 114,649 10,581
01 At 22| 91,026 85,966 5,060
Oolger=gtl] 84,280
OHNAESHRA 77 2 ANEH
800,000& = 14 800
ost&a 88 7 200,000& » 2& * 23| 800
oxgIEsE P 500& * 4000H 200
OLFHE EEE 10,000,000& = 1&] 10,000
OEE clZ3 M 5,000,000 * 14! 5,000
O2aE M= 5,000,000& * 14 5,000
Oll=z g28s) 2718 842
400,000 * 43 1,600
OJNEXE WA & EFHA
300,000& = 50K 15,000
O&zils 2= 3,000,000& = 18 3,000
OMEZ0IEDIOE EM Z20=
110,000& = 13l 110
OctEE 65Xt IS8 &8 HMZA &2t
20,000,000& = 14! 20,000
OA¥EE 2EHM 5,000,000& * 14 5,000
Ol 2% TN HIZE WA
300,000 * 14! 300
ODIER L HAEGRA RUFY| £42
600,000& * 122 7,200
Ollsat 2 HAEGISA MIjetE el
280.830& « 128 3,370
Ollz=2t 2 HAESISA Agotdate|]
370,000& = 128 4,440
Ollsat S2)| M2 =
150,000& = 12& 1,800
Ogt=er=2 &3l Haldl 300,000& = 12l 300
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SN PEHAEAYA
HE: DER2Y
ol 0le® 2y CEERE
SA - H -G (300) - NISAY - BES 0f &t T RS2
OROEE 242 15,0008 » 204 » 128 360
OlE M2t 450
OOIEEX HI| RS2 150,002 * 13 150
OOl &7 X2 TYH 300,008 * 14! 300
Olgxtz] 6,296
ODIEXE 2HHI(I Q)
5,000,008 * 14l 5,000
00IZZ Y HAEBSA Ha)| X
36,0008 * 30H * 122 1,296
02 22l 34,204 28,683 5,521
O[Z222 ¥ HAl 25,500
ODIEZ L HAEGRA MRS
2,000,008 * 122 24,000
00IZZ Y HAEGSA A2EQ2
40,0008 * 12% 480
O0IEZ L HAEGRA AHUSME
Hsie3 40,0008 * 294 * 128 960
OOIZ3 AYOHM H3lHl 60,0008 * 13] 60
Ol 28] 1,704
OHNAEGRA o2y 8262 * 2,000 4 1,652
OOIZI| 2| 1,448 * 364 52
O[A & ZHIRT] 7,000
ODIZH Y HAEGSA ANESXES
7,000,000 * 14! 7,000
206 THE Bl 1,000 1,000 0
01 2| 1,000 1,000 0
O20ELH DRIINH 2
1,000,00080 * 14! 1,000
401 AEBIL 2B 16,700 3,500 13,200
01 Al &gl 16,700 3,500 13,200
OblgR XF4 MY S +2FY|
50,0008 * 503 2,500
O ™S CCTV &XIZA 8,200,008 * 14! 8,200
OF ALOHE R SHH| (ZOFHH TH R EF)
1,000,0008 * 14! 1,000
OFAIA THTA 5,000,008 * 14! 5,000
SHHS0I=2 MAISIHE 102,580 100,380 2,200
201 Y2 Y| 92,700 90,500 2,200
01 AR 22l Y] 1,440 89,260 £.87,820
SICETD 1,440
OSEIEH =X I
8,002 * 3% * 52 + 128 1,440
02 2Bl 1,260 1,240 20
O[Z2R32 MAI 1,260
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A SRAIEASE A
Fu: ls22dg
chel: D2 29 (el A
A - FE -SRI (3) - HEAY - BAS Ol & o8 S HBE2
e = - O & o =
OSELEZ(2UH) 330& =+ 2,0000H4 660
OREE Z85=(=H) 3,000& = 20004 600
03 EAr2ZHI 90,000 0 30,000
O8g - JIEH™Al 45,000,000& = 13l 45,000
ORIXNNS = =2 22,500,000& = 22l 45,000
202 Ol 2,880 2,880 0
01 =LHOI I 2,880 2,880 0
Olls2 ng & 90t
120,000& = 321 » 83| 2,880
301 Lt A3 7,000 7,000 0
07 2B =FH A HI 5,000 4,500 500
OstdE & A8 EF0HI
250,000& = 102! * 23] 5,000
09 BALAHIZE & 2 2,000 0 2,000
O&AlE &0 &It B4
100,000& = 102! * 23] 2,000
HY2HAH(2IAIE A L) 90,203 80,624 9,579
Jl= &l 90,203 80,624 9,579
SIIIEE Jl2&l 35,200 32,195 3,005
201 € Et2HH| 23,240 22,275 965
01 AtR 22| 23,240 22,275 965
Olger==g4l] 6,000
ORKNE2E SHAHY 6,000,000& * 14 6,000
Ool2gs] 14,520
O 60,0003 * 221 * 121€ 14,520
Ol=u!] 2,720
ORAN2Z SUAHL 8,0008 = 491 » 85 2,720
202 ¢4 4l 6,000 5,000 1,000
01 =LHO4 I 6,000 5,000 1,000
O[=2Uoitl] 6,000
ORAN2E SUAHL 20,0008 = 401 » 75 6,000
203 Z R =&Y 5,960 4,920 1,040
02 It R F 2| 1,160 720 440
OFZEINHREFTHI 40,0003 = 29¢2! 1,160
04 FEA2ESERFEH 4,800 4,200 600
ORN2ZE RFa] 400,000 = 128 4,800
Z2at/&E J123| 13,753 11,497 2,256
201 EH23A Y| 7,753 5,497 2,256
01 AtR2teldl 7,753 5,497 2,256
Oldet=g4l] 5,713
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SA:

B WEHSAA (SHAEAMYL)
&Rl I3l CEEED)
= X XH ol(a = H ik =2 OH @Ej—r'_- =}
A - SR (3AH) - HMEAMY - HES Ol &t o4 O &t 0t HusZ
ORAN2YE SHA A 5,713,000& * 14 5,713
Ol2&l] 2,040
OFRNMEZ SHAA 8,0008 * 32 + g5 2,040
202 (Yl 6,000 6,000 0
01 2o dl 6,000 6,000 0
O[2LHoddl] 6,000
OFMEE SHAA 20,0008 * 401 « 75 6,000
JATIEE2E J|I=2&2HI 18,046 16,476 1,570
201 B2 Y| 13,846 12,276 1,570
01 At 2t2lt! 13,846 12,276 1,570
Olger=g4l] 4,906
ORANSZE SUH 4,906,000 * 14 4,906
O[Z&Hl] 1,680
ORANSE SHAA 8,0008 = 721 » 30 1,680
ol2g+¢] 7,260
og& g 60,000& * 121 » 121 7,260
202 O dl 4,200 4,200 0
01 2| 4,200 4,200 0
ORN2ZE SHAL 20,0008 = 70! * 30 4,200
StES0I=28 I3yl 23,204 20,456 2,748
201 B2 H| 18,204 16,136 2,068
01 At 22|81 18,204 16,136 2,068
Olget+&4|] 6,000
ORNSEISUAHA 6,000,000 * 14 6,000
Ool2g+¢] 7,260
ogasY 60,000& * 12 x 121 7,260
O[2hl] 4,944
ORASZISHUAA  8,0008 » 321 » 206 4,944
202 44l 5,000 4,320 680
01 =W O HI 5,000 4,320 680
ORNSY SHAY
0,000& = 501 » 52 « 108 5,000
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